Installation sanleitung
Installation Instruction
Instruction d'installation

Unser Produkt wird Ihnen in 2 Paketen geliefert. Die Lieferzeiten dieser 2 Pakete konnen abweichen,
bitte haben Sie etwas Geduld und vielen Dank fir Ihr Verstandnis.

Our product will be delivered to you in 2 packages. The delivery times of these 2 packages may differ,
please be patient and thank you for your understanding.

Notre produit vous sera livré en 2 colis. Les délais de livraison de ces 2 colis peuvent différer,
soyez patient et merci pour votre compréhension.

N636P196249/N636P196250




ANLEITUNG

WICHTIG - SORGFALTIG DURCHLESEN — FUR
ZUKUNFTIGE REFERENZ BEWAHREN

a) WARNUNG - Hochbetten und das Oberbett von Etagenbetten sind wegen der
Verletzungsgefahr durch Stiirze nicht fiir Kinder unter sechs Jahren geeignet.

b) WARNUNG - Etagenbetten und Hochbetten kinnen ein ernstes
Verletzungsrisiko darstellen, wenn sie nicht ordnungsgemaR verwendet werden.
Befestigen oder hangen Sie niemals Gegenstande an einem Teil des Etagenbetts,
die nicht fiir die Verwendung mit dem Bett vorgesehen sind, zum Beispiel
Schniire, Kordeln, Haken, Gurte und Taschen.

c) WARNUNG - Kinder kénnen zwischen Bett und Wand eingeklemmt werden.
Um die Gefahr schwerer Verletzungen zu vermeiden, darf der Abstand zwischen
der oberen Sicherheitsbarriere und der angrenzenden Konstruktion 75 mm
nicht liberschreiten oder mehr als 230 mm betragen.

d) WARNUNG - Verwenden Sie das Etagenbett / Hochbett nicht, wenn ein
Bauteil beschadigt ist oder fehit. Ersatzteile werden zwischendurch beim
Hersteller oder beim Handler angefordert.

e) Befolgen Sie unbedingt die Installationsanweisungen und die
Gebrauchsanweisung des Herstellers.

f) Die empfohlene GroRe der Matratze fiir das Bett betragt 200 cm x 90 cm,
maximale Dicke der Matratze: 10 cm.

g) Es ist notwendig, den Raum zu liiften, um ein niedriges Feuchtigkeitsniveau
aufrechtzuerhalten und das Wachstum von Schimmel im Bett und an dessen
Peripherie zu verhindern.

h) Verbindungselemente sollten immer richtig angezogen und regelmafig
Uberpriift werden. Bei Bedarf festziehen.

i) Erfullt die Anforderungen der europdischen Norm EN 747-1: 2024

INSTRUCTIONS

IMPORTANT - READ CAREFULLY - RETAIN FOR FUTURE

REFERENCE

a ) WARNING - High beds and the upper bed of bunk beds are not suitable for
children under six years due to the risk of injury from falls;

b) WARNING - Bunk beds and high beds can present a serious risk of injury from
strangulation if not used correctly. Never attach or hang items to any part of the
bunk bed that are not designed to be used with the bed, for example, but not
limited to ropes, strings, cords, hooks, belts and bags.

¢) WARNING - Children can become trapped between the bed and the wall, a
roof pitch, the ceiling adjoining pieces of furniture (e.g. cupboards) and the like.
To avoid risk of serious injury the distance between the top safety barrier and
the adjoining structure shall not exceed 75 mm or shall be more than 230 mm.
d) WARNING - Do not use the bunk bed/high bed if any structural part is broken
or missing; Replacement parts are between requested from the manufacturer or
the store.

e) it is imperative to always follow the installation instructions and
manufacturer's use.

f) The recommended size of the mattress to be used with the bed is 200cm
x90cm, maximum thickness mattress: 10cm.

g) It is necessary to ventilate the room in order to maintain a low level moisture
and prevent mold growth in the bed and its periphery.

h) Joining devices should always be tightened properly and regularly verified.
Tighten if necessary.

i) Meets European standard requirements EN 747-1: 2024

INSTRUCTIONS

IMPORTANT - A LIRE ATTENTIVEMENT - CONSERVER

ISTRUZIONI

IMPORTANTE - LEGGERE ATTENTAMENTE -

POUR REFERENCE ULTERIEURE

a) AVERTISSEMENT - Les lits surélevés et le lit supérieur des lits superposés ne
conviennent pas aux enfants de moins de six ans en raison du risque de blessure
dii a une chute;

b) AVERTISSEMENT - Les lits superposés et les lits surélevés peuvent présenter
un risque sérieux de blessure par strangulation s'ils ne sont pas utilisés
correctement. Ne jamais attacher ou suspendre a des parties du lit superposé
des objets qui ne sont pas congus pour étre utilisés avec le lit, par exemple, mais
ne se limitant pas a des cordes, des ficelles, des cordes, des crochets, des
ceintures et des sacs.

c) AVERTISSEMENT - Les enfants peuvent rester coincés entre le lit et le mur, un
toit incline les meubles adjacents au plafond (par exemple, des armoires), etc.
Pour éviter tout risque de blessure grave, la distance entre la barriére de
sécurité supérieure et la structure adjacente ne doit pas dépasser 75 mm ou
doit étre supérieure a 230 mm.

d) AVERTISSEMENT - N'utilisez pas le lit superposé / le lit surélevé si une partie
de la structure est cassée ou manquante. Les piéces de rechange sont
demandées au fabricant ou au magasin.

e) il est impératif de toujours suivre les instructions d'installation et I'utilisation
du fabricant.

f) La taille recommandée du matelas a utiliser avec le lit est 200 cm x 90 cm,
épaisseur maximale du matelas: 10cm.

g) Il est nécessaire de ventiler la piéce afin de maintenir un faible niveau
d'humidité et d'empécher la formation de moisissure dans le lit et 4 sa
périphérie.

h) Les dispositifs de jonction doivent toujours étre correctement serrés et
vérifiés régulierement. Serrer si nécessaire.

i) Conforme aux exigences de la norme eurapéenne en matiére de sécurité
EN 747-1: 2024

CONSERVARE IL FUTURO RIFERIMENTO

a) ATTENZIONE - | letti alti e il letto superiore a castello non sono adatti a
bambini di eta inferiore ai sei anni a causa del rischio di lesioni da cadute;

b) AVWERTENZA - | letti a castello e i letti alti possono presentare un serio rischio
di lesioni a causa di strangolamento se non utilizzati correttamente. Non
attaccare o appendere mai oggetti a qualsiasi parte del letto a castello che non
sono progettati per essere utilizzati con il letto, ad esempio, ma non limitato a
corde, corde, corde, ganci, cinture e borse.

c) AVVERTENZA - | bambini possono rimanere intrappolati tra il letto e la parete,
un tetto inclinato il mobile adiacente al soffitto (ad es. armadi) e simili. Per
evitare il rischio di gravi lesioni, |a distanza tra |a barriera di sicurezza superiore e
a struttura adiacente non deve superare 75 mm o deve essere superiore a 230
mm.

d) ATTENZIONE - Non utilizzare il letto a castello / letto alto se qualche parte
strutturale & rotta o mancante; Le parti di ricambio sono tra quelle richieste al
produttore o al negozio.

e) & indispensabile seguire sempre le istruzioni di installazione e |'uso del
produttore.

f) Le dimensioni consigliate del materasso da utilizzare con il letto sono 200 cm x
90 cm, materasso di massimo spessore: 10 cm.

g) E necessario ventilare I'ambiente per mantenere un'umidita bassa e prevenire
la formazione di muffe nel letto e nella sua periferia.

h) | dispositivi di giunzione devono essere sempre serrati correttamente e
regolarmente verificati. Stringere se necessario.

i) Soddisfa i requisiti della norma europea Sicurezza EN 747-1:2024




INSTRUCTIES

BELANGRIJK - LEES AANDACHTIG - BEWAAR VOOR

IINSTRUKCIJE

WAZNE - PRZECZYTAJ UWAZNIE - ZACHOWAJ NA

TOEKOMSTIGE REFERENTIE

a) WAARSCHUWING - Hoge bedden en het bovenste bed van stapelbedden zijn
niet geschikt voor kinderen jonger dan zes jaar vanwege het risico op letsel door
vallen;

b) WAARSCHUWING - Stapelbedden en hoge bedden kunnen een ernstig risico
op verwonding vormen als ze niet correct worden gebruikt. Bevestig of hang
nooit items aan een deel van het stapelbed die niet zijn ontworpen voor gebruik
met het bed, bijvoorbeeld, maar niet beperkt tot touwen, koorden, koorden,
haken, riemen en tassen.

c) WAARSCHUWING - Kinderen kunnen vast komen te zitten tussen het bed en
de muur, een dakhelling het plafond aangrenzende meubels (bijv. kasten) en
dergelijke. Om het risico van ernstig letsel te voorkomen, mag de afstand tussen
de bovenste veiligheidsbarriére en de aangrenzende structuur niet groter zijn
dan 75 mm of meer dan 230 mm.

d) WAARSCHUWING - Gebruik het stapelbed / hoogbed niet als een structureel
onderdeel kapot is of ontbreekt; Vervangende onderdelen worden tussen
gevraagd door de fabrikant of de winkel.

e) het is noodzakelijk om altijd de installatie-instructies en het gebruik van de
fabrikant te volgen.

f) De aanbevolen maat van de matras die met het bed wordt gebruikt, is 200 cm
% 90 cm, maximale dikte matras: 10cm.

g} Het is noodzakelijk om de kamer te ventileren om een laag vochtgehalte te
handhaven en schimmelgroei in het bed en de periferie ervan te voorkomen.

h) Verbindingsinrichtingen moeten altijd goed worden vastgedraaid en
regelmatig worden gecontroleerd. Draai indien nodig vast.

i) Voldoet aan Europese standaardvereisten EN 747-1: 2024

PRZYSZt0OSC

a) OSTRZEZENIE - Wysokie fdika i gérne tdiko foiek pietrowych nie sg
odpowiednie dla dzieci ponizej szesciu lat ze wzgledu na ryzyko obrazen w
wyniku upadku;

b) OSTRZEZENIE - tozka pietrowe i wysokie t6zka moga stwarza¢ powazne
ryzyko obrazen na skutek uduszenia, jesli nie zostang wtasciwie uzyte. Nigdy nie
mocuj ani nie wieszaj przedmiotéw na zadnej czesci t6ika pietrowego, ktére nie
sg przeznaczone do uzytku z tozkiem, na przyktad, ale nie ograniczajac sie do lin,
sznurkow, sznurkow, haczykdw, pasow i toreb.

) OSTRZEZENIE - Dzieci moga zostaé uwiezione miedzy tézkiem a éciana,
nachyleniem dachu pod sufitem przylegajgcymi meblami (np. szafkami) i tym
podobne. Aby uniknaé ryzyka powaznych obrazen, odlegtosé miedzy gorna
barierg bezpieczeristwa a przylegajaca konstrukeja nie moze przekraczaé 75 mm
lub by¢ wieksza niz 230 mm.

d) OSTRZEZENIE - Nie uzywaj tézka pietrowego / wysokiego tozka, jesli
jakakolwiek czes¢ konstrukcyjna jest zepsuta lub brakuje jej; Czesci zamienne s3
wymagane od producenta lub sklepu.

e) bezwzglednie naleiy przestrzegac instrukcji instalacji i uzytkowania
producenta.

f) Zalecany rozmiar materaca do zastosowania z t6zkiem to 200 cm x 90 cm,
maksymalna grubosé materaca: 10cm.

g) Konieczna jest wentylacja pomieszczenia w celu utrzymania niskiego poziomu
wilgoci i zapobiegania rozwojowi plesni w tdzku i jego obrzeiach.

h) Urzadzenia taczace powinny by¢ zawsze odpowiednio dokrecone i regularnie
sprawdzane. Dokreci¢ w razie potrzeby.

i) Spetnia wymagania norm europejskich Bezpieczeristwo EN 747-1: 2024

INSTRUKCE

DULEZITE - PRECTETE S| POZORNE - UCHOVAVAJTE

INSTRUKCIE

DOLEZITE - POZORNE SI PRECITAJTE -

PRO BUDOQUCI REFERENCE

a) VAROVANI - vysoké postele a horni liZka palandy nejsou vhodné pro déti do
Sesti

let z divodu rizika zranéni padem;

b) VAROVANI - Patrové postele a vysoké postele mohou pfedstavovat vainé
riziko zranéni pfi uskrceni, pokud nebudou spravné pouzity. Nikdy nepfipevriujte
ani nezavésujte pfedméty na zadnou East palandy, které nejsou navrieny pro
pouZiti s posteli, ale neomezuji se pouze na lana, provdzky, idry, hacky, pasy a
tasky.

c) VYSTRAHA - Déti se mohou zachytit mezi postel a zed, sklonit stfechu stropy
pfilehlé kusy nabytku (napf. skiiné) a podobné. Aby se zabranilo riziku vdiného
zranéni, nesmi vzdalenost mezi horni bezpeénostni bariérou a sousedni
konstrukei prekroéit 75 mm nebo byt vétéi nez 230 mm.

d) VYSTRAHA - NepouZivejte patrové IGzko / vysoké lizko, pokud je néktera
konstrukéni éast zZlomena nebo chybi; Nahradni dily jsou mezi na vyZzddani od
vyrobce nebo obchodu.

e) je bezpodminecéné nutné dodriovat instalaéni pokyny a pouZiti vyrobcem.

f) Doporuéena velikost matrace pro poutZiti s posteli je 200 cm x 90 cm,
maximalni tloudtka matrace: 10 cm.

g) Mistnost je nutné ventilovat, aby se udrzela nizka hladina vlihkosti a zabranilo
se ristu plisni v loZi a jeho obvodu.

h) Spojovaci zafizeni by méla byt vidy pevné dotaZena a pravidelné ovéfovana. V
pfipadé potfeby dotdhnéte.
i) Splfiuje pozadavky evropské normy EN 747-1: 2024

UCHOVAVAJTE PRE BUDUCE REFERENCIE

a) VYSTRAHA - Vysoké postele a horné postele poschodowych posteli nie st
vhodné pre deti do Siestich rokov kvoli riziku zranenia padom;

b) VYSTRAHA - poschodové postele a vysoké postele mdiu predstavovat vaine
riziko zranenia priskrtenim, ak sa nebudd spriavne pouZivat. Nikdy nepripeviiujte
ani nevesajte predmety k Ziadnej €asti poschodovej postele, ktora nie je uréend
na poutiitie s postefou, napriklad, ale nielen, land, &nury, $nary, haciky, pasy a
tasky.

c) VYSTRAHA - Deti sa mézu zachytit medzi postelou a stenou, sklonom strechy,
stropom priliehajlcim kusy nabytku (napr. skrinky) a podobne. Aby sa predislo
riziku vdZneho zranenia, vzdialenost medzi hornou bezpeénostnou bariérou a
prilahlou konitrukciou nesmie prekroéit 75 mm alebo byt viac ako 230 mm.

d) VYSTRAHA - NepouZivajte poschodovil postel / vysoké 16zko, ak je akakolvek
konstrukéna ast poskodend alebo chyba; Ndhradné diely su potrebné na
vyZiadanie od vyrobcu alebo skladu.

e) je bezpodmieneéne nutné postupovat podla pokynov na initaldciu a podla
pokynov vyrobcu.

f) Odporicana velkost matraca poutitého na |6zko je 200 cm x 90 cm,
maximalna hribka matraca: 10 cm.

g) Miestnost je potrebné vetrat, aby sa udriala nizka uroven vihkosti a zabranilo
sa rastu plesni v |6Zku a jeho obvode.

h) Spojovacie zariadenia by sa mali vidy pevne dotiahnut a pravidelne
preverovat, V pripade potreby dotiahnite.

i) Spl'ﬁa poiiadavky eurdpskych noriem EN 747-1: 2024




UTASITAS

FONTOS - OLVASSA EL FIGYELMESEN - VARJON A
JOVOBEN

a) VIGYAZAT - A magas 4gyak és az emeletes dgyak felsS dgya nem alkalmas hat
év alatti gyermekek szamara az esések sériilésének veszélye miatt;

b) FIGYELMEZTETES - Az emeletes dgyak és a magas agyak stlyos sériilést
okozhatnak a fojtogatas kdvetkeztében, ha nem hasznaljik helyesen. Soha ne
csatlakoztasson és ne logjon az emeletes agy olyan részeire, amelyeket példaul
nem az dgyhoz vald felhaszndldsra terveztek, de ezekre nem korldtozddik:
kételek, hirok, zsinorok, horgok, dvek és taskak.

c) FIGYELMEZTETES - A gyermekek becsapodhatnak az dgy és a fal kozé, tetdtéri
a mennyezetet a szomszédos bltorokhoz (példaul szekrényekhez) és hasonlékat.
A stilyos sériilés kockazatdnak elkeriilése érdekében a felsd biztonsagi akadaly és
a szomszédos szerkezet kozotti tavolsag nem haladhatja meg a 75 mm-t vagy
tobb, mint 230 mm.

d) FIGYELMEZTETES - Ne hasznalja az emeletes agyat / magas agyat, ha
valamelyik szerkezeti elem torott vagy hidnyzik; A cserealkatrészeket a gyartotol
vagy a bolttdl kérheti.

e) feltétleniil kévesse a telepitési utasitasokat és a gyarto altali felhasznaldst.

f) Az dgyhoz hasznalni kivant matrac ajanlott mérete 200 cm x 90 cm, a matrac
maximalis vastagsaga: 10 cm.

g) SzellGztetni kell a helyiséget, hogy fennmaradjon az alacsony
nedvességtartalom, és megakaddlyozzak a penész ndvekedését az dgyban és
annak peremén.

h) A csatlakozoberendezéseket mindig megfeleléen meg kell hizni és
rendszeresen ellendrizni kell. Sziikség esetén hlizza meg.

i) Megfelel az eurdpai szabvany kovetelményeinek EN 747-1: 2024

INSTRUCTIUNI

IMPORTANT - CITITI CU ATENTIE - PATITI PENTRU
REFERINTA VIITORA

a) AVERTIZARE - Paturile inalte si patul superior al paturilor nu sunt potrivite
pentru copiii sub sase ani din cauza riscului de ranire din cauza caderilor;

b) AVERTIZARE - Paturile suprapuse si paturile inalte pot prezenta un risc grav
de ranire din cauza stranguldrii dacd nu sunt utilizate corect. Nu atasati si nu
agatati niciodata articole pe nicio parte a patului care nu sunt concepute pentru
a fi utilizate cu patul, de exemplu, dar farad a se limita la franghii, corzi, snururi,
carlige, curele si saci.

c) AVERTIZARE - Copiii pot deveni prinsi intre pat si perete, pot acoperi
acoperisul pe piesele de mobilier aldturate (de ex. dulapuri) si altele asemenea.
Pentru a evita riscul de ranire grava, distanta dintre bariera de siguranta
superioara si structura alaturata nu trebuie sa depéaseasca 75 mm sau sa fie mai
mare de 230 mm.

d) AVERTIZARE - Nu folositi patul supraetajat / patul inalt dacd o parte
structurald este rupta sau lipseste; Piesele de schimb se fac intre solicitarea
producdtorului sau a magazinului.

e) este obligatoriu sa respectati intotdeauna instructiunile de instalare si
utilizarea producatorului,

f) Dimensiunea recomandatd a saltelei care va fi folositd cu patul este de 200cm
x90cm, grosimea maxima a saltelei: 10 cm.

g) Este necesara ventilarea camerei pentru a mentine o umiditate la nivel scdzut
si a preveni cresterea mucegaiului in pat si la periferia acesteia.

h) Dispozitivele de imbinare trebuie intinse intotdeauna corect si verificate
regulat. Strangeti dacd este necesar.

i) Indeplineste cerintele standardelor europene privind siguranta
EN 747-1: 2024

TALIMATLAR

ONEMLI - DIKKATLE OKUYUN - GELECEK REFERANS

UHCTPYKLUUU

BAXHO - NPOYUTANTE BHUMATE/IbHO -

ICIN TUTUN

a) UYARI - Yiiksek yataklar ve ranzalarin Ust yatagi, diisme nedeniyle yaralanma
tehlikesi nedeniyle alti yasin altindaki gocuklar igin uygun degildir;

b) UYARI - Ranzalar ve yiiksek yataklar, dogru kullaniimadigi takdirde bogulma
nedeniyle ciddi yaralanma riski olusturabilir. Hicbir zaman ranza yataginin,
yatakla birlikte kullaniimak Gzere tasarlanmamis, ancak ipler, ipler, kordonlar,
kancalar, kayislar ve ¢antalar ile sinirl olmamak iizere herhangi bir parcasina
takmayin veya asilmayin.

c) UYARI - Cocuklar yatakla duvar arasinda sikisip kalabilir, tavana bitisik mobilya
pargalan (Grnegin dolaplar) ve benzeri bir tavan dosenir. Ciddi yaralanma riskini
onlemek igin Ust glivenlik bariyeri ve bitisik yapi arasindaki mesafe 75 mm'yi
gegmemelidir veya 230 mm'den fazla olmalidir.

d) UYARI - Herhangi bir yapisal parca kirilmis veya eksikse ranza / yiiksek yatak
kullanmayin; Yedek pargalar Uretici veya magazadan talep arasindadir.

e) her zaman kurulum talimatlarini ve lreticinin kullammini takip etmek
zorunludur,

f) Yatak ile birlikte kullamilmasi tavsiye edilen yatak boyutu 200 cm x 90 cm,
maksimum kalinlik yatagi: 10 cm'dir.

g) Diisuk seviyede nem saglamak ve yatak ve cevresinde kif olusumunu
onlemek igin odanin havalandiriimasi gerekir.

h) Birlestirme cihazlari her zaman uygun sekilde sikilmali ve diizenli olarak
kantrol edilmelidir. Gerekirse sikin.

i) EN 747-1 : 2024 Ayrupa standard gerekliliklerini kargilar,

COXPAHUTE BYAYLLYIO CCbIJIRY

a) NPEAYNPEMAEHUE - BoICOKME KPOBATH M BEPXHAA KPOBaTh ABYXbAPYCHbIX
KpoBaTei He NOAXOAAT ANA AeTel MNagLle WeCTH NeT U3-3a PUCKa NoNYYeHnA
TPaBMbl B pesynbraTe NageHua;

b) NPEAYNPEMAEHUE - a8yXbAPYCHBIE KDOBATK W BLICOKME KPOBATH MOTYT
NPeacTaBNATE CePbe3HYI0 0NACHOCTL TPABMUPOBAHMA OT YAYLWEHKUA, eCM UX
HEnpaBWIbHO MCNOAL3DBaTL. HUKOTAE He NPUKPENAANTE W He NoaBelnBaiiTe
npeameTbl K KaKoiM-nMbo YacTH ABYXbAPYCHOM KPOBATH, HANPUMED, KOTOPbIE HE
npegHazHaYveHsl 408 MCNONb30BaHUA C KPOBATLIO, HO HE OrPaHUYMBAIOTCA
BEPEBKAMM, BEPEBKAMM, LWHYPAMK, KPIOYKAMM, PEMHAMM M CYMKaMM.

c) NPEAYNPEMAEHUE - et MOryT OKa3aTbCA B NOBYLIKE MEMOY KPOBaTLIO U
CTEHOM, KpblLLER, HAKNOHUTL NOTONOK K CMEMHBIM NpeameTam mebenu
(Hanpumep, wrkadam) u T.n. Bo u3bemaHWe pUcka NoNYYEHHA CEPLE3HLIX TPABM
paccToAHWe Mexay BEPXHWUM 3aLMTHIM Bapbepom U NpUAeraiowe
KOHCTPYKLUMER He A0MKHO NpeBbilwaTts 75 Mm nan agonmHo 6bite 6onee 230 mm.

d) NPEAYNPEMAOEHME - He MCNoNb3yiiTe 4BYXLAPYCHYIO KPOBaTh / BbICOKYO
KpOBaTb, €C/IW KakaA-NWBo KOHCTPYKTMBHAA YacTb CNOMaHa WM OTCYTCTBYET;
3anacHble YacTM MERAY 3anpocamm oT NPOUIBOAWTENA MK Maras3nHa.

e) 0bA3aTenbHO BCETAa CNeA0BaTh MHCTPYKLMAM MO YCTAHOBKE W
MCNONB30BAHMIO U3rOTOBUTENEM.

f) PekomeHayembllt pazmep matpaca, KoTopblid ByAeT MCNONLIOBATLCA C
KpoBatbto, coctasnaet 200 cm x 90 cm, makcMmanbHaa ToAwMHa maTpaca: 10
cMm.

g) Heobxoaumo npoBeTPUBaTE NOMELEHME, YTODLI NOAAEPHKUBATE HU3KMIA
YPOBEHL BIark W NPeaoTepalaTe 06pazoBaHWe NNECEHM B NIOKE M Ha ero
nepudepun.

h) CoefMHWTENLHEIE YCTPOWCTEBA BCETAA AOMHHBI BbITh HAAEMHO 3aTAHYTHI U
PEryNApHO NPOBEPATLCA. 3aTAHYTL NPW HEOBXOAMMOCTH.

i) CootsetcTByeT TpebosaHmnam Eeponelickoro ctanaapta EN 747-1 : 2024




IMPORTANT ! KEEP FOR FUTURE REFERENCE : READ CAREFULLY

-~

;"’* To be assembled by an adult. Assembly must be checked by an adult before use
* WARNING ! Keep all screws, small parts and plastic bags out of the reach of children
* Properly identify all parts before assembling
* Never use your item if any of its parts are broken or missing
* Should any problems arise, please contact our After Sales Service
* Manufacturer's instructions shall be followed at all times
* Care: Clean with a soft, dry cloth. In case of larger stains, carefully rub with a slightly damp, non-
abrasive sponge
* Avoid the risk of fire by not placing furniture near sources of ignition or hot items
“\; Do not jump on the bed

WICHTIG ! ZUM SPATEREN NACHSCHLAGEN AUFBEWAHREN: SORGFALTIG LESEN

- -

-

',f’ * Muss von einem Erwachsenen zusammengebaut werden.Der Zusammenbau muss vor dem Gebrauch

I
[}

S,

-,
,
S

von einem Erwachsenen iiberpriift werden

* WARNUNG! Bewahren Sie alle Schrauben, Kleinteile und Plastikbeutel auRerhalb der Reichweite von
Kindern auf

* Kennzeichnen Sie vor dem Zusammenbau alle Teile richtig

* Benutzen Sie lhren Artikel niemals, wenn Teile gebrochen sind oder fehlen

* Sollten Probleme auftreten, wenden Sie sich bitte an unseren Kundendienst

* Die Anweisungen des Herstellers sind stets zu befolgen

* Pflege: Mit einem weichen, trockenen Tuch reinigen. Bei groReren Flecken vorsichtig mit einem leicht
feuchten, nicht scheuernden Schwamm abreiben. nicht scheuernden Schwamm

* Vermeiden Sie die Gefahr eines Brandes, indem Sie die Mébel nicht in der Nahe von Ziindquellen oder

1
A}
Ay

“\1 Nicht auf das Bett springen

heilRen Gegenstdnden aufstellen

LY
A}

i
i

IMPORTANT ! CONSERVER POUR REFERENCE ULTERIEURE : LIRE ATTENTIVEMENT

Francgais

-

’/": Le montage doit étre effectu¢ par un adulte. Le montage doit &tre vérifié¢ par un adulte avant
! Utilisation

* ATTENTION ! Tenir les vis, les petites pi¢ces et les sachets en plastique hors de portée des enfants
* |dentifiez correctement toutes les piéces avant de les assembler

* N'utilisez jamais votre article si I'une de ses pi¢ces est cassée ou manquante

* En cas de probléme, veuillez contacter notre service aprés-vente

* Les instructions du fabricant doivent étre respectées a tout moment

* Entretien : nettoyer avec un chiffon doux et sec. En cas de taches plus importantes, frotter
soigneusement avec une éponge non abrasive légérement humide. Iégérement humide et non
Abrasive

» Evitez les risques d'incendie en ne plagant pas les meubles & proximité de sources d'inflammation

1
LY
AY

p) .
2 Ne pas sauter sur le lit

ou d'objets chauds




IMPORTANTE! CONSERVARE PER RIFERIMENTO FUTURO: LEGGERE ATTENTAMENTE

- ~~
-
~
P ~,

/"« Deve essere assemblato da un adulto. L'assemblaggio deve essere controllato da un adulto prima dell'uso \‘\,
* ATTENZIONE! Tenere tutte le viti, le piccole parti e i sacchetti di plastica fuori dalla portata dei bambini
* Identificare correttamente tutte le parti prima dell'assemblaggio
* Non utilizzare mai l'articolo se alcune parti sono rotte o mancanti
* In caso di problemi, si prega di contattare il nostro Servizio Post Vendita
* Le istruzioni del produttore devono essere sempre seguite
* Cura: Pulire con un panno morbido e asciutto. In caso di macchie pilt estese, strofinare accuratamente con
una spugna leggermente umida e nonspugna leggermente umida e non abrasiva

* Evitare il rischio di incendio, non collocando i mobili vicino a fonti di accensione o a oggetti caldi
1}
\_* Non saltare sul letto /

~, #
Saa -

i IMPORTANTE ! CONSERVELO PARA FUTURAS CONSULTAS: LEA ATENTAMENTE

- .
- ~,

‘,". Debe ser montado por un adulto. El montaje debe ser comprobado por un adulto antes del uso \

ADVERTENCIA Mantenga todos los tornillos, piezas pequefias y bolsas de plastico fuera del alcance de los nifios.

* |Identifique correctamente todas las piezas antes de montarlas

* Nunca utilice su articulo si alguna de sus piezas estad rota o falta

* Si surge algtin problema, péngase en contacto con nuestro Servicio Postventa

* Las instrucciones del fabricante deben seguirse en todo momento

* Cuidado: Limpiar con un pafio suave y seco. En caso de manchas mds grandes, frote cuidadosamente con una
esponja no abrasiva ligeramente humedecida.

* Evite el riesgo de incendio no colocando los muebles cerca de fuentes de ignicion u objetos calientes.

A\ * No saltar sobre la cama. /
\\ ra

~
~— —




Parts List-N636P196249

1 12pcs 6pcs 30pcs
M6*70 M6*50 M6*45

4 2pcs 38pcs 9pcs
M6*35 M6*28 M6*15




Parts List-N636P196249

7 2pcs | 8 2pcs | 9 2pcs
)
’
Y
g
M8*35
10 2pcs |11 2pcs
M5*45 M4

Bitte beachten Sie, dass die Formen der Schrauben 1 und 2 und 3 und 4 ahnlich sind. Bitte
installieren Sie entsprechend der Anleitung und unterscheiden Sie sie!

Please note that the shapes of screws 1 and 2 and 3 and 4 are similar. Please install according

to the instructions and distinguish them!

Notez que les vis 1 et 2 et 3 et 4 ont des formes similaires. Veuillez les installer en suivant les
instructions pour les séparer!




Parts List-N636P196249

Al 1pcs | A2 l 1pcs A3 | 1pcs
A4 1pcs | C1 2pcs | C2 V 2pcs
|
|
|
J
E ’ lpcs | F lpcs | G 1pcs
/
H 1pcs | K1 3pcs | K2 1pcs
M lpcs | P Ipcs | Q 1pcs




R lpcs | S 2pcs

Parts List-N636P196250

B 2pcs | D 4pcs | | 1pcs
J 3pcs | L1 1pcs | L2 5pcs

2pcs

1pcs

T 22pcs

Ul

2pcs

1pcs




1

Vor dem Einbau die Schrauben in die Locher stecken und festziehen,aber nicht bis 100%,

70% bis 80% anziehen reicht aus. SchlieRlich, nachdem alle Schrauben installiert sind, ziehen Sie
alle Schrauben auf 100%.Wenn Sie auf diese Probleme stol3en, wie z. B. Fehlausrichtung der Locher
oder Unfahigkeit, bestimmte Teile zu installieren, Gberprifen Sie bitte,ob die Schrauben korrekt

verwendet werden und passen Sie die Dichtigkeit der Schrauben an.

Before installation, insert the screws into the holes and tighten them, but do not tighten them to 100%,
70% to 80% is sufficient. Finally, after all screws are installed, tighten all screws to 100%.If you encounter
these issues, such as if the holes cannot be aligned or some parts cannot be installed, please check if the

screws are used correctly and adjust the tightness of the screws.

Insérer la vis dans le trou avant la fin de I'assemblage, serrer la vis, mais ne pas serrer a 100%,
70% ~ 80% est correct. Enfin, une fois que toutes les vis sont bien serrées, toutes les vis sont serrées a 100%.
Si vous rencontrez ces problémes, par exemple si les trous ne sont pas alignés ou si certaines piéces

ne peuvent pas étre montées, vérifiez que les vis sont utilisées correctement et Ajustez leur serrage.

2

M&X45
3X 10 MEX30

11




6X30

MéX

12




MMMMM

3 X 2pcs

13




M6X30

1 X 4pcs

6 X lpcs

2 X 4pcs

L
\

14




7 X 2pcs

10

NEE W P v L

M6X35

M6X28

5X 18

15



11

MéX35

MéX28
SX 4

MEX15

12

731

[
B

J

M6X35

M6X28
5X 16

16



M6X45

3 X 8pcs

M6X30

4 X 2

6 X

14

17



\ﬁ G!

10 X2

MéX35

Mé&X15
6 X 4pcs

M&X30

Importeur Decobus Handel GmbH

Adresse Innungsstralie 9, 21244 Buchholz, Deutschland

URL https://www.decobusgroup . de

Hersteller ZHANGZHOU YUECHUN INDUSTRY AND TRADE CO., LTD
Adresse MNo. 36-1,Jianshe East Road, Shancheng Nanjing, Zhangzhou, Fujian, China
EmaillURL IvB888@vip.163.com

e Jrer

Decobus Handel GmbH
Innungsstralle 9, 21244 Buchholz, Deutschland
https./imww.decobusgroup.de

18




	686说明书01
	686说明书02
	686说明书03
	686说明书04
	686说明书05
	686说明书06
	686说明书07
	686说明书08
	686说明书09
	686说明书10
	686说明书11
	686说明书12



